4043 NEW VOLVO FM / FH
Dirt deflectors fitting instructions

Part list:

1. Dirt deflector 1 pair 5. Washer M6,4x15 12 pcs
2. Gasket tape 1,2m 6. Rubber wellnut M5 8 pcs
3. Screw 6x20mm 4 pcs 7. Nylok nut M6 4 pcs

4. Screw 5x 20mm 4 pcs

—

1. Place the deflector on the corner part and mark fitting points.

2. Drill 9,5mm holes on the corner part for mounting the top part and place
rubber wellnuts in to the holes.

3. Drill Bmm holes on the corner part for mounting the bottom part.
4. Fit the gasket tape on the dirt deflector.
5. Fit the top- part of the deflector by using 5x20 screws and washers.

6. Fit the bottompart of the deflector by using 6x20mm screw, 6mm washers
and 6mm nylok nut.

TIP. But silicon on to the holes.



